Goteborgs BF
Paul Jones, par 3

Partavling, 36 bord, 72 par. Antal brickor: 14. Medel: 489.8.

Plac

Poang

679.6
668.2
627.1
624.9
621.4
612.3
602.8
600.4
588.6
587.8
585.6
584.1
584.0
574.4
563.6
559.1
558.7
558.4
554.6
549.2
539.9
539.3
535.4
535.4
531.4
524.0
520.9
518.4
514.2
510.6
500.9
498.4
495.5
491.9
489.7
488.7
486.6
483.6
479.1
477.6
472.4
465.8
463.9
463.9
461.6
456.6
455.8
450.6
447.4
445.4
442.2
442.1
441.3
440.1
434.1
425.1
422.8
421.9
420.0
415.5
413.1
411.4
406.0
402.2
401.6
391.0
388.6
359.9
317.1
309.0
289.9
241.4

%

69.35
68.18
63.99
63.76
63.41
62.48
61.51
61.27
60.06
59.98
59.76
59.60
59.59
58.61
57.51
57.05
57.01
56.98
56.59
56.04
55.09
55.03
54.63
54.63
54.22
53.47
53.15
52.90
52.47
52.10
51.11
50.85
50.56
50.19
49.97
49.86
49.65
49.35
48.89
48.73
48.20
47.53
47.34
47.34
47.10
46.59
46.51
45.98
45.65
45.45
45.12
45.11
45.03
4491
44.29
43.38
43.14
43.05
42.86
42.40
42.15
41.98
41.43
41.04
40.98
39.90
39.66
36.72
32.36
31.53
29.58
24.63

Namn

Inga Appelqgvist - Uno Navert

Anders Wistrand - Anders lhalainen
Jan Andersson - Hans Thimell

Goran Selldén - Kent Johansson
Lars-Olof Mansson - Tomas Ekvall
Mats Allgéwer - Jan Ahlqgvist

Lars-Ake Gustafsson - Carl Ek

Lena Johansson - Anders Erikson
Hans Eriksson - Jan Karlsen

Jan Konar - Ella Olsson

Kent Josefsson - Rolf Ewreskar
Ronny Ovesson Ejnell - Jim Nielsen
Goran Palmborg - Sven-Olof Jarkvist
Ylva Pyykko - Leif Johansson
Marianne Fagerby - Roland Andersson
Michael Koch - Krister Ljungberg

Eva Kristina Isaksson - Olle Isaksson
Michael Lemborn - Per Andersson
Lars Lofgren - Olof Lindegren

Lars Kennethsson - Suzanne Lemborn
Bengt Pagoldh - Gunilla Lindestrém
Johan Svensson - Ingemar Assarsjo
Fredrik Norling - Par Ljungquist

Kjell Evensen - Mats Jakobsson

Britt Larsson - Oscar Hult

Kjell Helin - Emil Vall

Nils Nordahl - Thomas Therkelson
Ove Jonsson - Claes-Hugo Larsson
Eva Gunnarsson - Jérgen Neldemo
Dag Kallfelt - Gert Lundgvist

Gunvor Ragnar - Mile Calic

Ulla Liedholm - Lena Bergsten

Ingela Sjoberg - Leif Andersson
Josefin Samfelt - Nils Wallmark

Karin Nyberg - Ulla Berntsson
Marie-Louise Landelius - Karin Boo
Birgit Andersson - Martin Lundberg
Ralf Nilsson - Helena Kahu

Goran Almgren - Folke Grauers

Berit Fors - Gerd Sjéholm

Bo Hillstrdm - Sven Nilsson

Claes Furst - Bo Nilsson

Sten-Ake Thunberg - Leif Beckman
Lars Wallin - Bjérn Johansson

Lena Starkenberg - Eva Bergfjord
Bjorn Sjoholm - Maria Tullberg

Eva Torring - Ingela Jacobson

Agneta Persson - Hans Linusson
Daniel Svensson - Jan-Erik Helmersson
Magnus Wegestal - Monica Svardstrom
Ingvar Grahn - Géran Rydell

Goran Johansson - Bengt Malmstrom
Roland Hérsjo - Bo Appelqgvist
Vivianne Norling - Gunnar Ohlson
Lisbeth Ohlsson - Goran Ostberg

Eva Sylvan - Rolf Anberg

Elizabeth Ewreskar - Barbro Josefsson
UIf Rilbe - Karin Rilbe

Tony Elmroth - Birgitta Dahlstrom
Solve Helin - Leif Kahlman

Yvonne Holsner - Annika Laremark
Jan Sager - Birgitta Emanuelsson
Gerhard Jorgensen - Tommy Gunnarsson
Rodny Carlsson - Ulla Johansson
Bengt Bjerstaf - Anna-Karin ElImhammar
Anne-Marie Johansson - Britta Nilsson
Anita Nilsson - Ann Hagvinsson

Ulla Malmstrém - Evy Andersson

Ulla Holmer - Pojan Lindeblad

Marie Ekelund - Christina Erikson
Erling Ludwig - Addie Olovson

Lena Heiwall - Bjorn Olofsson

31328
4792
37709
4863
48142
8386
17359
15309
4844
9717
26200
2489
23278
50062
49361
27453
47544
1215
79543
17074
78230
11900
49212
11738
86952
16870
3075
1696
12598
26561
19739
4886
16376
59734
5059
28557
5116
45037
85480
4807
53213
49335
2754
11191
28552
40612
47943
52880
18661
91149
5064
17317
81643
88947
58415
31662
38623
16179
44888
49357
89623
38243
12288
57784
83919
21490
92101
88373
26472
32847
31663
58008

MID

8948
4892
37708
1834
41834
10458
5294
3396
4843
20412
38622
4865
25822
18448
1766
36684
46840
17111
28644
14984
25683
647
13363
57091
12879
47682
4805
18560
18660
43624
17900
4908
4889
17852
11235
28556
26104
30982
57805
40611
53041
28643
18021
8792
11233
46457
48318
49276
4243
52250
13057
88374
10178
5078
27577
27348
26199
16178
22844
53209
88030
33863
10295
57262
86900
21493
37807
17315
46847
28553
33148
52939
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29 47542 Basta kontrakt 30 4 E9854 Basta kontrakt 31 & DKn42 Basta kontrakt
Nord v 854 5NT O =-660 Ost v 9765 64 SD-2-300 Syd v 107 3NT S =600
Alla + Kn74 Ingen + K10 NS + Kn8
#3873 & ¢ v & NT »386 & ¢ v & NT &ED974 & ¢ v & NT
4K63 4D8 N6 226 2 4 Kn76 a- N119 102 41083 4K95 N 107 6 9 9
vED63 vKn109 S6 226 2 vK v Kn432 S 118 102 v6542 vEKS83 S 107 6 9 9
¢E85 ¢KD10632 O 7 11117 11 + Kn9543 ¢ ED6 O 12114 3 4 + K6 ¢ 109532 0356 43
&#Kn96 K4 V 7 10106 10 #Knl1l054 &EKD972 V 12114 3 4 £10832 #5 V 366 43
& EKNn109 4 KD1032 4 E76
v K72 vED108 v DKn9
+9 4872 + ED74
#ED1052 *3 #KKn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
131 134 1¢ O+3 45 -130 70.0 0.0 9 21 34 S+l vK 170 70.0 0.0( 27 5 3NS+2 48 660 70.0 0.0
6 24 2NV +1 &8 -150 57.0 13.0 (102 128 44 S-2 &J -100 68.0 20| 11 21 3NS+1 3 630 56.0 14.0
9 21 3¢ O+2 +9 -150 57.0 13.0( 14 16 44 O +1 &K -150 66.0 4.0 13 19 3NS+1 v6 630 56.0 14.0
27 3 3¢ O+2 T -150 57.0 13.0( 17 13 4# O +2 &K -170 59.0 11.0| 23 9 3NS+1 +K 630 56.0 14.0
29 1 2NV +1 &7 -150 57.0 13.0| 34 31 3#0O+3 a A -170 59.0 11.0| 26 6 3NS+1 &T 630 56.0 14.0
102 128 2NV +1 a4 -150 57.0 13.0( 35 30 4# O+2 &K -170 59.0 11.0| 28 4 3NS+1 «T 630 56.0 14.0
103 127 2¢ O +3 v2 -150 57.0 13.0( 36 15 4# O+2 &K -170 59.0 11.0( 35 32 3NS+1 3 630 56.0 14.0
108 122 4¢ O +1 &A -150 57.0 13.0 {107 123 3# O +3 a2 -170 59.0 11.0( 36 16 3NS+1 &3 630 56.0 14.0
111 119 2NV +1 a2 -150 57.0 13.0 ({121 109 44 O +2 &K -170 59.0 11.0|103 129 3N S+1 3 630 56.0 14.0
120 110 3¢ O +2 +9 -150 57.0 13.0| 25 5 5 0= &K -400 50.0 20.0 (105 127 3NS+1 v4 630 56.0 14.0
121 109 3¢ O +2 +9 -150 57.0 13.0 (113 117 5& O = &K -400 50.0 20.0 (106 126 3N S +1 +K 630 56.0 14.0
124 106 3¢ V +2 43 -150 57.0 13.0 (118 112 5& O = &K -400 50.0 20.0|125 107 3NS+1 3 630 56.0 14.0
132 133 3¢ O +2 +9 -150 57.0 13.0 6 24 5#0+1 &K -420 30.0 40.0 (131 101 3NS+1 &2 630 56.0 14.0
105 125 4¢ O +2 +9 -170 42.0 28.0( 10 20 5% O +1 &K -420 30.0 40.0 (132 135 3NS+1 v6 630 56.0 14.0
113 117 3¢ O+3 &5 -170 42.0 28.0( 19 11 54 O +1 &K -420 30.0 40.0 ({112 120 44 S= ¢K 620 42.0 28.0
130 135 3¢ O +3 &A -170 42.0 28.0| 22 8 5# 0O +1 &K -420 30.0 40.0 1 31 3NS= v6 600 23.0 47.0
14 16 34 N-2 K -200 34.0 36.0| 23 7 5& 0 +1 &K -420 30.0 40.0| 10 22 3NS= v6 600 23.0 47.0
17 13 34 N-2 *A -200 34.0 36.0| 27 3 54 0+1 &K -420 30.0 400| 15 17 3NS= v4 600 23.0 47.0
34 31 3vV+2 LX) -200 34.0 36.0| 28 2 5 0+1 +8 -420 30.0 40.0| 18 14 3NS= 3 600 23.0 47.0
35 30 34 N-2 K -200 34.0 36.0| 29 1 5&0+1 & Q -420 30.0 40.0| 24 8 3NS= v4 600 23.0 47.0
36 15 24 S-2 ¢A -200 34.0 36.0| 33 32 5840 +1 &K -420 30.0 40.0| 29 3 3NS= v4 600 23.0 47.0
26 4 34 N-4 * K -400 28.0 42.0 (103 127 5# O +1 &K -420 30.0 40.0| 30 2 3NS= v4 600 23.0 47.0
23 7 3NV +1 a5 -630 26.0 44.0 (104 126 5# O +1 &K -420 30.0 40.0| 34 33 3NS= v4 600 23.0 47.0
10 20 3NO+2 aJ -660 14.0 56.0 (105 125 5# O +1 «Q -420 30.0 40.0|102 130 3NS= v4 600 23.0 47.0
12 18 3NV +2 a4 -660 14.0 56.0 (108 122 5# O +1 +3 -420 30.0 40.0 (104 128 3N S= &2 600 23.0 47.0
19 11 3NV +2 va -660 14.0 56.0 (115 136 5# O +1 &K -420 30.0 40.0(108 124 3NS= v6 600 23.0 47.0
25 5 3NV +2 v5 -660 14.0 56.0 (130 135 5& O +1 &K -420 30.0 40.0[109 123 3N S= 48 600 23.0 47.0
28 2 3NO+2 T -660 14.0 56.0 (131 134 5& V +1 &K -420 30.0 40.0 (116 136 3NN= &3 600 23.0 47.0
33 32 3NO+2 aT -660 14.0 56.0 (132 133 5& O +1 &K -420 30.0 40.0|117 115 3NS= v2 600 23.0 47.0
101 129 3N O +2 aJ -660 14.0 56.0(116 114 54D S-3 #J -500 12.0 58.0|119 113 3NS= v5 600 23.0 47.0
107 123 3NV +2 a4 -660 14.0 56.0( 12 18 54D O+1 &K -650 6.0 64.0(121 111 3NS= &2 600 23.0 47.0
115 136 3NV +2 *4 -660 14.0 56.0| 26 4 54D O+1 &K -650 6.0 64.0|122 110 3NS= v4 600 23.0 47.0
116 114 3N O +2 &T -660 14.0 56.0 (111 119 54D O +1 &K -650 6.0 64.0 (133 134 3NS= v6 600 23.0 47.0
118 112 3NV +2 a2 -660 14.0 56.0 (120 110 54D O +1 &K -650 6.0 64.0 7 25 3NS-1 43 -100 2.0 68.0
22 8 3NV +3 a7 -690 2.0 68.0(124 106 54D O +1 &K -650 6.0 64.0( 20 12 3NS-1 &3 -100 2.0 68.0
104 126 34DN-3 ¢K -800 0.0 70.0(101 129 64 O= vA -920 0.0 70.0|114 118 3NS-1 v6 -100 2.0 68.0
32 4 DKn742 Basta kontrakt 33 4 D8532 Basta kontrakt 34 D Basta kontrakt
Vast v D952 4v V =-620 Nord v3 5v O =-450 Ost v K4 4v O =-420
ov +75 Ingen + KD1087 NS + DKn984
&Kn2 & ¢ v & NT &E2 & ¢ v & NT #KD1053 & ¢ v & NT
4106 4953 N4 2 364 «E10 4 K764 N6 6 253 4Knl06 #E53 N65354
vE10 v KKn764 S 42364 v108542 vEK976 S66 253 vKn75 v ED1082 S55354
¢ E1042 ¢ DKn83 O9 11107 8 ¢ Kn63 ¢+ E4 O6 6 117 9 ¢ E10765 ¢3 O7 7 108 9
#EK1098 %4 vV 9 11107 8 #KKn3 £96 vV 7 6 118 10 &E4 #Kn982 vV 7 8 108 9
« EK8 4 Kn9 4 K98742
v 83 v DKn v 963
+ K96 4952 * K2
&#D7653 #D108754 *76
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
121 111 4v O-2 A 200 70.0 0.0(133 101 4v O-1 aJ 50 700 00| 35 34 3¢ V-3 «Q 150 70.0 0.0
23 9 4v V-1 aJ 100 66.0 4.0 25 9 3vO+1 e -170 68.0 2.0(117 136 3v N= &3 140 68.0 2.0
109 123 5¢ V-1 «Q 100 66.0 4.0 12 22 3v O+2 aJ -200 61.0 9.0(133 101 3¢ V-2 «Q 100 66.0 4.0
117 115 5¢ V-1 «Q 100 66.0 40| 21 13 3v O+2 e -200 61.0 9.0 12 22 3v O-1 v3 50 57.0 13.0
116 136 2¢ O= a2 -90 62.0 8.0|103 131 2v O+3 aJ -200 61.0 90| 21 13 3vO-1 a4 50 57.0 13.0
122 110 24 N-2 &4 -100 60.0 10.0 ({113 121 3v O +2 aJ -200 61.0 9.0(103 131 3v O-1 49 50 57.0 13.0
10 22 3¢ V= 4Q -110 56.0 14.0 (118 116 3v O +2 aJ -200 61.0 9.0 (107 127 3v O-1 48 50 57.0 13.0
119 113 3¢ V= a4 -110 56.0 14.0 ({122 112 2v O +3 aJ -200 61.0 9.0(109 125 4v O-1 &7 50 57.0 13.0
125 107 3¢ V= a2 -110 56.0 14.0| 30 4 4v O= aJ -420 49.0 21.0 (115 119 3v O-1 &7 50 57.0 13.0
102 130 2N O = aA -120 52.0 180 35 34 4v O= aJ -420 49.0 21.0 (122 112 4v O-1 ¢2 50 57.0 13.0
15 17 3¢ O+1 aA -130 35.0 35.0 (106 128 4y O = aJ -420 49.0 21.0(126 108 4v O-1 *+ K 50 57.0 13.0
18 14 2¢ V+2 a2 -130 35.0 35.0 (110 124 4v O= 49 -420 49.0 21.0 2 32 3v0O= a4 -140 41.0 29.0
26 6 2¢ V+2 «Q -130 35.0 35.0 (115 119 4v O= aJ -420 49.0 21.0( 14 20 2v O+1 &7 -140 41.0 29.0
27 5 3¢ V+1 «Q -130 35.0 35.0(134 135 4y O= 49 -420 49.0 21.0| 28 6 3v O= a2 -140 41.0 29.0
28 4 3¢ V+1 «Q -130 35.0 35.0 1 33 4v0O+1 aJ -450 25.0 45.0( 30 4 3v0O= &7 -140 41.0 29.0
29 3 3¢ V+1 &J -130 35.0 35.0 8 26 4v O+1 e -450 25.0 45.0 (104 130 3v O= &7 -140 41.0 29.0
30 2 3¢ V+1 4Q -130 35.0 350 11 23 4v O+1 e -450 25.0 45.0 (106 128 3y O= v6 -140 41.0 29.0
34 33 3¢ V+1 a2 -130 35.0 35.0( 14 20 4v O+1 aJ -450 25.0 45.0(120 114 3v O= K -140 41.0 29.0
36 16 2¢ V+2 &J -130 35.0 35.0( 19 15 4v O+1 e -450 25.0 45.0 (132 102 3v O= *+ K -140 41.0 29.0
104 128 3¢ O+1 s A -130 35.0 35.0| 24 10 4v O+1 aJ -450 25.0 450 19 15 2NO+1 48 -150 32.0 38.0
105 127 3¢ O+1 a A -130 35.0 35.0( 27 7 4v V+1 *+ K -450 25.0 45.0( 11 23 3v O+1 *+ K -170 27.0 43.0
108 124 3¢ V+1 «Q -130 35.0 35.0| 28 6 4v O +1 aJ -450 25.0 45.0( 29 5 3v O+1 &6 -170 27.0 43.0
114 118 4e¢ V= &J -130 35.0 35.0| 29 5 4v O +1 aJ -450 25.0 45.0 (110 124 2v O +2 a4 -170 27.0 43.0
131 101 3¢ V+1 «Q -130 35.0 35.0( 31 3 4v O +1 aJ -450 25.0 45.0(123 111 3v O+1 49 -170 27.0 43.0
132 135 3¢ V+1 «Q -130 35.0 35.0( 36 17 4v O+1 aJ -450 25.0 45.0 1 33 2v0O+3 &7 -200 17.0 53.0
133 134 2¢ V +2 «Q -130 35.0 35.0(105 129 4v O +1 aJ -450 25.0 450 16 18 3v O+2 &7 -200 17.0 53.0
24 8 2vV+1 a4 -140 17.0 53.0 (107 127 4v V +1 *+ K -450 25.0 45.0| 27 7 3v O+2 &7 -200 17.0 53.0
112 120 2v V+1 «Q -140 17.0 53.0 109 125 4v O +1 aJ -450 25.0 45.0| 31 3 3v O+2 &7 -200 17.0 53.0
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7 25 34 N-3 +8 -150 12.0 58.0 (117 136 4v O+1 4J -450 25.0 450 36 17 3vy O+2 &6 -200 17.0 53.0
11 21 2#S-3 vA -150 12.0 58.0 (123 111 4v O+1 4J -450 25.0 45.0[(105 129 3v O+2 &6 -200 17.0 53.0
35 32 3¢ O+2 &A -150 12.0 58.0(126 108 4v O+1 &J -450 25.0 450 24 10 44 N-3 vA -300 10.0 60.0
106 126 2v V +2 4Q -170 8.0 62.0(132 102 4v O+1 4J -450 25.0 45.0 8 26 44 S-4 SA -400 8.0 62.0
20 12 34RDN-2 #5 -600 6.0 64.0 (120 114 4y O+2 & -480 6.0 64.0(113 121 4y O+1 42 -450 5.0 65.0
13 19 4v 0= 4 A -620 3.0 67.0 2 32 5¢DN-3 v¥K -500 4.0 66.0 (118 116 4v O+1 v7 -450 5.0 65.0
103 129 4y O = *6 -620 3.0 67.0| 16 18 5vDO+1 &3 -750 2.0 68.0(134 135 34DN-2 3 -500 2.0 68.0

1 31 3NV+3 »2 -690 0.0 70.0(104 130 5¢DN-5 vA -1100 0.0 70.0| 25 9 34DS-4 &J -1100 0.0 70.0
35 41073 Basta kontrakt 36 4 K95 Basta kontrakt 37 497 Basta kontrakt
Syd v ED98752 ANT V =-630 Vast v 10652 54 V =-600 Nord v 95432 6NT O =-990
()Y +D4 Alla + 9653 NS 6

*6 & ¢ v & NT D8 & ¢ v & NT #Kn10975 & ¢ v & NT

4 KD5 4 E8 N37 753 4Knl08764 &E NO53 36 41043 « EKDKn8 N32211

v KKn v 1063 S37753 v7 v EDKn93 S05336 vK v DKn106 S32211

+ K3 ¢ EKn2 O 106 6 6 10 ¢+ Knlo0 ¢ 74 O 115 9 9 7 ¢ EDKn973 ¢ 10 O 1011111212

#DKn9743 #K10852 V 106 6 6 10 #EK105 #Kn9743 V 115 9 9 7 »E86 #KD2 V 1011111212

& Kn9642 4 D32 4652
va v K84 v E87
+ 1098765 + EKD82 ¢ K8542
»E *62 *43

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
108 128 3v N= &K 140 70.0 0.0|135 101 3NDV-3 45 800 700 00| 29 9 740-1 vA 50 70.0 0.0
12 24 54 V-1 43 100 670 3.0| 32 4 3s4V-3 «Q 300 67.0 3.0 2 1 3NO+2 &4 -460 68.0 2.0
119 117 5& V-1 &5 100 67.0 3.0[106 130 3v O-3 ¢A 300 67.0 3.0| 16 22 564 O+1 #4 -480 59.0 11.0
15 21 3v N-2 aA -100 62.0 8.0 2 34 44 V-1 v5 100 62.0 8.0| 18 20 44 O+2 #4 -480 59.0 11.0
31 5 2¢yDN-1 3 -100 62.0 8.0(114 122 34 V-1 v5 100 62.0 8.0| 23 15 44 O+2 43 -480 59.0 11.0
133 103 3v N-2 4 A -100 62.0 8.0(119 117 44 V-1 ¢4 100 62.0 80| 36 19 44 O+2 #4 -480 59.0 11.0
114 122 4a V= 43 -130 57.0 13.0| 25 11 24 V= v5 -110 57.0 13.0 ({109 129 44 O+2 &4 -480 59.0 11.0
123 113 4a V= a7 -130 57.0 13.0 (127 109 24 V= +5 -110 57.0 13.0 (112 126 44 O+2 45 -480 59.0 11.0

2 34 44V +1 vA -150 49.0 21.0(108 128 3# O+1 ¢33 -130 53.0 17.0 ({117 121 44 O+2 43 -480 59.0 11.0

3 33 44V +1 vA -150 49.0 21.0(118 136 44 O= ¢ A -130 53.0 17.0 (122 116 44 O+2 &4 -480 59.0 11.0
32 4 49y N-3 »2 -150 49.0 21.0 1 35 340= *A -140 40.0 30.0( 10 28 3NO+3 ¢2 -490 46.0 24.0
121 115 44V +1 »6 -150 49.0 21.0 9 27 24 V+1 45 -140 40.0 300 34 4 3NO+3 #4 -490 46.0 24.0
127 109 3& V +2 vA -150 49.0 21.0| 12 24 34 V= +5 -140 40.0 30.0 (107 131 3NO+3 #J -490 46.0 24.0
135 101 4V +1 vA -150 49.0 21.0| 15 21 34 V= +9 -140 40.0 30.0 (128 110 3NV +3 &J -490 46.0 24.0
25 11 3vDN-2 #A -300 42.0 280 22 14 3v O= *A -140 40.0 30.0 (135 103 3NO+3  #4 -490 46.0 24.0
124 112 4vyDN-3 &5 -500 40.0 300 29 7 34 V= +6 -140 40.0 30.0 3 35 64 0= a2 -980 21.0 49.0

9 27 5aV= vA -600 29.0 41.0( 30 6 34 O= ¢ A -140 40.0 30.0| 13 25 64 O= +5 -980 21.0 49.0
13 23 54 V= vA -600 29.0 410 31 5 24 V+1 ¢+ 4 -140 40.0 30.0( 14 24 64 O= LY -980 21.0 49.0
17 19 54 V= 43 -600 29.0 41.0 (110 126 34 O= ¢A -140 40.0 300 21 17 64 O= LY -980 21.0 49.0
22 14 54 V= vA -600 29.0 41.0 (111 125 34 V= *Q -140 40.0 300 26 12 64 O= a2 -980 21.0 49.0
26 10 54 V= vA -600 29.0 41.0(121 115 34 V= *Q -140 40.0 300 27 11 64 O= vA -980 21.0 49.0
30 6 54V= vA -600 29.0 410( 13 23 340+2 +A -150 25.0 450 30 8 64 O= vA -980 21.0 49.0
36 18 54 V= vA -600 29.0 410 17 19 340+2 +A -150 25.0 450 31 7 64 O= vA -980 21.0 49.0
105 131 5& V= vA -600 29.0 41.0(124 112 44 O+1 +A -150 25.0 450 32 6 64 O= a2 -980 21.0 49.0
111 125 5V = vA -600 29.0 41.0(133 103 44 O+1 ¢A -150 25.0 450 33 5 64 O= vA -980 21.0 49.0
134 102 5V = vA -600 29.0 41.0( 36 18 34 V+1 *Q -170 19.0 51.0 (101 102 64 O = vA -980 21.0 49.0

1 35 3NV+1 vA -630 17.0 53.0 (116 120 24 V +2 v5 -170 19.0 51.0 ({105 133 64 O = »2 -980 21.0 49.0
28 8 3NV+1 43 -630 17.0 53.0( 26 10 2NS-2 &A -200 14.0 56.0 (106 132 64 O = vA -980 21.0 49.0
110 126 3NO+2  ¢5 -660 13.0 57.0( 28 8 3¢ S-2 »2 -200 14.0 56.0 (108 130 64 O = &4 -980 21.0 49.0
116 120 3NV +2 +4 -660 13.0 57.0 (105 131 2N S-2 &A -200 14.0 56.0 (111 127 64 O= &4 -980 21.0 49.0
104 132 3NV +3 v9 -690 8.0 620 20 16 3¢ S-3 v7 -300 8.0 62.0(119 136 64 O= vA -980 21.0 49.0
107 129 3NV +3 v9 -690 8.0 62.0(104 132 3¢ S-3 SA -300 8.0 62.0(120 118 64 O = a2 -980 21.0 49.0
118 136 3NV +3 v8 -690 8.0 62.0 (123 113 3¢ S-3 v7 -300 8.0 62.0(124 114 64 O= vA -980 21.0 49.0
20 16 5#DV= vA -750 4.0 66.0 3 33 3¢S-4 v7 -400 4.0 66.0(125 113 64 O= LY -980 21.0 49.0
29 7 5vDN-4 &8 -800 1.0 69.0 (107 129 5& V= v5 -600 1.0 69.0 (134 104 64 O = vA -980 21.0 49.0
106 130 54DS-4 &Q -800 1.0 69.0 (134 102 54 O = ¢ A -600 1.0 69.0 115 123 6N O = a2 -990 0.0 70.0
38 4 Kn876 Basta kontrakt 39 & DKn8 Basta kontrakt 40 410 Basta kontrakt
Ost vK3 3v O =-140 Syd v KKn62 34 V =-140 Vast v EKD9874 6NT N =990
oV ¢+ E1093 Alla + 832 Ingen €92

#Kn86 & ¢ v & NT #E105 & ¢ v & NT #Kn73 & ¢ v & NT
4 E109 4 K3 N36 4765 4 E10972 & K654 N9 67 37 4 DKn8753 46 N 109 129 12
vD5 v EKn976 S364765 vD1054 v93 S96737 v- vKn1032 S 109 129 12
¢ DKn872 ¢6 O 107 9 6 8 + EKD 49654 04769 4 + Kn864 410753 0341141
#K102 #D9753 V 107 9 6 8 &7 »D86 V476094 #1098 K642 V34131

& D542 43 & EK942

v 10842 v E87 v 65

+ K54 + Knl107 ¢ EKD

»E4 #KKn9432 #ED5

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

2 1 3NV-4 47 400 68.0 2.0|120 136 3#DS= ¢A 670 70.0 0.0|126 114 6NDS= &T 1230 70.0 0.0
32 6 3NV-4 a7 400 68.0 2.0[106 134 4e V-2 «A 200 68.0 20| 17 23 6NS= «Q 990 64.0 6.0
111 127 3v O -4 42 400 680 20| 27 13 3&S= ¢A 110 66.0 40| 27 13 6NS= «Q 990 64.0 6.0
120 118 3NV-3 47 300 61.0 9.0 3 2 4eV-1 v6 100 59.0 11.0| 36 20 6NS= «Q 990 64.0 6.0
122 116 3NV -3 47 300 61.0 9.0 4 1 4e V-1 ¢2 100 59.0 11.0|112 128 6N S= 43 990 64.0 6.0
125 113 3NV-3 ¢+3 300 61.0 9.0|116 124 44 V-1 ¢2 100 59.0 11.0|135 105 6N S = &9 990 64.0 6.0
134 104 3NV-3 48 300 61.0 9.0|118 122 34 V-1 +3 100 59.0 11.0 4 1 6y N= 46 980 52.0 18.0
18 20 3NV-2 a4 200 53.0 17.0 (126 114 44 O-1 3 100 50.0 11.0| 24 16 6v N= 46 980 52.0 18.0
34 4 2NV-2 46 200 53.0 17.0 (129 111 44 V-1 +8 100 59.0 11.0| 30 10 64 N= 46 980 52.0 18.0
36 19 3v0O-2 44 200 53.0 17.0| 11 29 44S-1 + K -100 51.0 19.0 (108 132 6v N= +3 980 52.0 18.0
109 129 3NV -2 46 200 53.0 17.0[108 132 34 S-1 ¢ A -100 51.0 19.0 (110 130 6v N= 46 980 52.0 18.0
23 15 3NV-1 6 100 44.0 26.0 5 35 34V= &A -140 27.0 43.0 (118 122 6v N= 46 980 52.0 18.0
105 133 3NO-1 42 100 440 260 14 26 34 V= +8 -140 27.0 43.0(129 111 6v N= 46 980 52.0 18.0
117 121 3NO-1 44 100 44.0 26.0( 15 25 34 V= »A -140 27.0 43.0 5 35 ANS+2 &T 490 42.0 28.0
128 110 2NV -1 «7 100 44.0 26.0| 17 23 24 V+1 +Q -140 27.0 43.0( 14 26 3NS+3 &T 490 42.0 28.0
135 103 4v O-1 4 100 44.0 26.0( 19 21 34 V= &A -140 27.0 43.0(121 119 3NS+3 a7 490 42.0 28.0
31 7 Pass 37.0 33.0| 22 18 34 V= &5 -140 27.0 43.0( 22 18 5v N+1 46 480 36.0 34.0
107 131 Pass 37.0 33.0| 24 16 34 V= +8 -140 27.0 43.0[(101 104 5v N+1 &6 480 36.0 34.0
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13 25 INV= a7 -90 33.0 37.0| 28 12 34 V= &A -140 27.0 43.0(106 134 4v N+2 46 480 36.0 34.0
108 130 INV= a7 -90 33.0 37.0| 30 10 34 V= +3 -140 27.0 43.0( 19 21 3NS+2 «Q 460 30.0 40.0
14 24 24 S-2 vQ -100 30.0 40.0( 31 9 24 V+1 &A -140 27.0 43.0 (113 127 3N S +2 «Q 460 30.0 40.0
3 35 3#0+= A -110 26.0 440 32 8 34 V= 42 -140 27.0 43.0 (116 124 3N S +2 «Q 460 30.0 40.0
112 126 2v O = a4 -110 26.0 440 33 7 24 V+1 2 -140 27.0 43.0 34 6 3NS+1 «Q 430 24.0 46.0
124 114 2v O = a2 -110 26.0 440 34 6 1la V+2 &A -140 27.0 43.0 (107 133 3NS+1 «Q 430 24.0 46.0
16 22 2NV = 46 -120 20.0 50.0 36 20 34 V= &A -140 27.0 43.0 (125 115 4NS= «Q 430 24.0 46.0
21 17 2NV= a7 -120 20.0 50.0 (101 104 34 V= &A -140 27.0 43.0 3 2 6NS-1 +Q -50 13.0 57.0
119 136 INV +1 46 -120 20.0 50.0 (102 103 34 V= 2 -140 27.0 430 11 29 7NS-1 *9 -50 13.0 57.0
26 12 26 0 +2 #A -130 15.0 55.0 (107 133 14 V +2 &A -140 27.0 43.0 28 12 6NS-1 +Q -50 13.0 57.0
101 102 3+ O+1 #4 -130 15.0 55.0 (109 131 34 V= v2 -140 27.0 430 31 9 7vN-1 46 -50 13.0 57.0
10 28 2v O+1 44 -140 11.0 59.0 (113 127 34 V= +8 -140 27.0 430 33 7 7vN-1 +5 -50 13.0 57.0
29 9 2vO+1 a2 -140 11.0 59.0 (121 119 1a V +2 &5 -140 27.0 43.0(102 103 7v N-1 46 -50 13.0 57.0
27 11 2NV +1 a7 -150 6.0 64.0(123 117 34 V= +3 -140 27.0 43.0(120 136 7NS-1 +Q -50 13.0 57.0
30 8 34 N-3 »2 -150 6.0 64.0 (135 105 34 O= 2 -140 27.0 43.0 (123 117 7NS-1 a5 -50 13.0 57.0
115 123 34 O+2 44 -150 6.0 64.0 (110 130 4% S-2 4 A -200 3.0 67.0 15 25 6NS-2 +Q -100 3.0 67.0
33 5 2v0+2 @A -170 1.0 69.0 (125 115 34 V +2 v2 -200 3.0 67.0(109 131 7NS-2 +Q -100 3.0 67.0
106 132 3y O+1 v4 -170 1.0 69.0 (112 128 34DV = #A -730 0.0 70.0( 32 8 7NS-3 &T -150 0.0 70.0
41 462 Basta kontrakt 42 4 Kn84 Basta kontrakt
Nord v EKn96 4v N D -3-500 Ost v2 34 S =140
ov 41075 Alla + K862
#EKn43 & ¢ v & NT #D10964 & ¢ v & NT
« EDKn10 483 N4376 4 410965 4 E3 N 106 4 8 7
v5 vD1073 S43764 vKKn1053 vE974 S 106 4 9 7
¢ E32 ¢+ KDKn86 09 106 7 9 ¢ Kn973 ¢+ D104 0269 46
#K7652 109 V99679 LE #Kn732 V262946
4 K9754 4 KD72
v K842 v D86
+94 ¢ E5
«D8 #EK85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
20 22 4¢DO-1 43 200 69.0 1.0| 20 22 34DV-3 44 800 70.0 0.0
107 135 5¢ O-2 a7 200 69.0 10| 29 13 44 S+1 vK 150 66.9 3.1
15 27 2v N= ¢+K 110 66.0 4.0|119 123 INS+2 9 150 66.9 3.1
108 134 3NV-1 v3 100 62.0 8.0|126 116 34 S= vJ 140 63.8 6.2
109 133 3¢ O-1 v2 100 62.0 8.0 5 2 3&aN+1 ¢4 130 60.7 9.3
117 125 3NO-1 «3 100 62.0 8.0(130 112 3« N+1 4A 130 60.7 9.3
16 26 3v S-1 v5 -50 56.0 14.0| 12 30 2NS= vT 120 56.6 13.4
32 10 24 S-1 »2 -50 56.0 14.0|110 132 INS+1 vT 120 56.6 13.4
114 128 2v N-1 ¢ A -50 56.0 14.0|127 115 4v V-1 4 100 53.5 16.5
34 8 2v N-2 45 -100 52.0 18.0( 15 27 INS= v3 90 49.4 20.6
111 131 3+ V= vA -110 50.0 200 25 17 INS= aT 90 49.4 20.6
12 30 INO+1 v4 -120 42.0 28.0( 32 10 INS= oT 90 49.4 20.6
36 21 INO+1 44 -120 42.0 28.0 4 3 INS-1 v5 -100 39.1 30.9
101 106 1INV +1 #3 -120 42.0 28.0 6 1 3NS-1 v] -100 39.1 30.9
119 123 INO+1 &7 -120 42.0 28.0( 18 24 2NS-1 v3 -100 39.1 30.9
121 136 INO+1 44 -120 42.0 28.0( 28 14 INS-1 vT -100 39.1 30.9
122 120 2NO = a4 -120 42.0 280 34 8 INS-1 v3 -100 39.1 30.9
127 115 INO+1 v4 -120 42.0 28.0 (108 134 3NS-1 v3 -100 39.1 30.9
31 11 24V +2 46 -130 32.0 38.0 (121 136 34 S-1 ¢7 -100 39.1 30.9
102 105 2¢ O+2 ¢9 -130 32.0 380 31 11 2v V+1 v2 -140 27.8 42.2
110 132 2# V +2 46 -130 32.0 38.0 (102 105 3v V= &4 -140 27.8 42.2
6 1 2NV+1 46 -150 19.0 51.0 (107 135 2v O+1 #A -140 27.8 42.2
23 19 2NV +1 a2 -150 19.0 51.0 (113 129 3v O= &A -140 27.8 42.2
25 17 INO+2 9 -150 19.0 51.0 (122 120 3v O+1 #A -170  22.7 47.3
28 14 INO+2 &7 -150 19.0 51.0( 23 19 44 S-2 vT -200 12.4 57.6
33 9 INO+2 44 -150 19.0 510 35 7 3NS-2 vT -200 12.4 57.6
35 7 INO+2 v4 -150 19.0 51.0( 36 21 3NS-2 vT -200 12.4 57.6
103 104 INO+2 &7 -150 19.0 51.0 (101 106 3N S-2 vJ] -200 12.4 57.6
113 129 1INV +2 a2 -150 19.0 51.0 (103 104 2N S -2 v3 -200 124 57.6
124 118 24 N-3 v5 -150 19.0 51.0 ({109 133 3N N-2 v7 -200 12.4 57.6
130 112 INO+2 v4 -150 19.0 51.0 ({111 131 3NS-2 aT -200 12.4 57.6
18 24 3vS-4 ¢ A -200 8.0 62.0 (114 128 3NN-2 v5 -200 124 57.6
4 3 2¢vDS-2 &6 -300 5.0 65.0(117 125 54DS-1 3 -200 12.4 57.6
5 2 3vyDN-2 &T -300 5.0 65.0( 16 26 4v S-5 aT -500 2.1 67.9
29 13 3NV= 46 -600 2.0 68.0(124 118 3vDO= #4 -730 0.0 70.0
126 116 2NDV = 46 -690 0.0 70.0( 33 9 A-/A- 28.0 28.0
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